
MAT 3749 0.1 Part 2 Team Homework
Names: ______________________________________________________________

1. (5 points) Use contradiction (but not contrapositive) to prove that for all 
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, if x is rational and y is irrational, then 
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 is irrational.
	


2. (5 points) Use contradiction to prove that 
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is irrational.  

(Hint: You may assume that
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is irrational.)
	


3. (8+2 points) Use a proof by cases to prove that 
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for all real numbers x and y.
	


4. (a) (8 points) Let
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Let 
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.  Show that 
[image: image10.wmf]m

L

 is either 
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(b) (2 points) Describe (in words) the meaning of the result in (a).
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